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Symbalic Flags Opcode No. of No.of M No. of T
Mnemonic Operation SZF5 HF3IPVN C 76543210 Hex Bytes Cycles States Comments
LD dd, nn dd « nn s+ s+ s+ » » » » »  (0ddO 001 3 3 10 dd Pair
— n = BC
< n = Na yiver 3uadiko X DE
LD IX, nn IX — nn v s s o+ o« o« o« 11011101 DD 10 D{ HL
00110001 21 o9& sP

— n -
— n -

LD IY, nn IY « nn s e e+ o+« + 11111101 FD 4 4 14
00110001 21 Na yivel SuadIko
«— n — 11
— n —
LDHL, (nn) L (nn) s e+« + + « .+ 00101010 2A 3 5 16
H « (nn+1) &~ n -
— n —
LDdd,(nn)  dd < (nn) + + <+ + « + « « 11101101 ED 4 6 20
ddy « 01 dd1 011
(nn+1) — n —
— n —
LD IX, (nn) X, < (nn) s+ « « +« « « .+ 11011101 DD 4 6 20
X — (nn+1) 00101010 2A

~ n =
~ n =
LD IY, (nn) IY, < (nn) s+ e s+ o+« + « « 11111101 FD 4 6 20
Yy — (nn+1) 00101010 2A
~ n =
—~ n =

D (nn), HL (nn) <L L 00100010 22 3 5 16
(nn+1) < H “— n

D (nn), dd (nn) « dd. LI I 11101 101 )( 6 20
(nn+1) — 01dd0o 011
ddy; — n

— n -




POP qq (SP) — qq. 1 3 10
SP—SP+1
(SP) < qgn
SP <SP +1
POP IX (SP) «— IX_ D 2 4 14
Pe SP + 1
SPY — | Xy
SP « SP + 1
POF SPY — 1YL T ) FC 2 4 4
P SP + 00 00 E
SP e SP+ 1
Notes: dd is any of the register pair BC, DE, HL, SP.
qq is any of the register pair BC, DE, HL, AF.
Flag Notation: - = flag is not affected, 0 = flag is reset, 1 = flag is set, | = flag is set according to the result of the operation.
POF (SP) — qL - - l'.:i::l |
SP — SP +
SP . SP 4+ 1
POP IX (SP) — IX, 2 4 14
SP < 5P +1
(SP) — IXu
SP« 5P +1
POPIY (SP) — IYL 2 4 14
SP «— SP + 1
SP«— SP + 1
Notes: ' * dd is any of the register pair BC, DE, HL, SP.
qq is any of the register pair BC, DE, HL, AF.
Flag Notation: - = flag is not affected, 0 = flag is reset, 1 = flag is set, [ = flag is set according to the result of the operation.
POF (SP) — qL - - l'.:i::l |
= = P P+ 1
P o P+ 1
POP X S5P) — IX . . 0 ] DD 2 4 14
PSP + 100 00 E1
SP) — IXu
co o, oD 4
POP IY (SP) — IYL 2 4 14
SP <SP +1
(SP) — IYy
SP <SP +1
Notes: dd is any of the register pair BC, D

qq is any of the register pair BC, D
Flag Notation: - = flag is not affected, 0 = flag is reset, 1 = flag is set, [ = flag is set according to the result of the operation.
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